
Respuestas del Práctico 10

Semestre Impar 2016

Ejercicio 1 n− 1

Ejercicio 2

Ejercicio 3 G = (V = {1, 2, 3, 4}, E = {{1, 2}, {1, 3}, {2, 3}})

Ejercicio 4 Son 6

Ejercicio 5

Ejercicio 6 No
No
Śı

Ejercicio 7

Ejercicio 8

Ejercicio 9 No

Ejercicio 10 n debe ser impar y G tendrá un solo vértice par.

Ejercicio 11 a) 11

b) Śı

Ejercicio 12

Ejercicio 13

Ejercicio 14 10

Ejercicio 15

Ejercicio 16 d,e,f,g,h,u,j,a,b,c,a,i,c,d,h,f,d,g.

Ejercicio 17 a) Para los n impares

b)

Ejercicio 18

Ejercicio 19

Ejercicio 20

Ejercicio 21 43

1



Ejercicio 22 25

Ejercicio 23 A

Ejercicio 24 a)

b) 10

c) 6

Ejercicio 25

Ejercicio 26

Ejercicio 27
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